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Where, Py, = power (kW), q = flow capacity (m*h), = density of fluid (kg/m?), g = gravity (9.81 m/s?)
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h = differential head (m)
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Where, P = shaft power (kW), = pump efficiency

Il& - & L} &_ A_l_ 1 1
6& 82=4
"& - & ' 9A - 1 -1
' 32=
& - ' 4@>/-1- - ' 5
&"'$ 12" 0$&. /%6:6 -
* +) 1 1 , )! 1
4 BII 1& 1 & 1 l_l_l I& ll &
4% ' &'1- - -&"
- & 1 &_ 1 n
74< 1 1 1 1
#



" #4 G& (- 1 -

( - -
*
4100 & 6- "' = 4
4 & " - 1--6- 16 ', '

& : 40

n 0 0 '2 1' - &

- - -4
74 - Y 1& &, - & ‘4
841- 6-' ' & - 25 1 & "

1 1
- & - ' 6 4
* $%$ !
)*) # o+ .
# 1%
( = " 0 89; 4,
( 7 I # 84@:
T ?
(7 . 84
(7 # 4 7 4
(7 # 2 Q@@;4@8
927943

“ il



)t # "HH
. 1%
89:; 4;
# 84@:
* 84
( 7 4
@Q@@;4@8
)*) rn # n | 4 #
. %
# 8;,@84:;
* 84
DO )
]
u, 6
"% 4
]
]




n #

199

m,$
m%
[ 1$$ < 5 =
m O
* & n
! <010&< 2. /%
& '& E %9&
- 6 T7T%0<3./%6
)
- - "1-9 G ', & - &t
1'
- 6 9 2 $$
/ @4:/ 7:A 8@
1% 994CA :84:A >4:A
* * +) v , )I !
4 < ' ' & &
4 < & &
74 % ' - 1- - ' 1& - o
1 &I - 1
* (+
#*



41- & - "
&23&28& 2 & 2

4 & - 3

74 1- ‘9, =

84 I- o 3,

941-& ' '88 &

4 - = T &

4 1 ‘& ' 49

>41-1 - &- '9,

@4-&- 'J 5

4 ' <4 2792

2
6

4

23




o
N4
=N
&

y)o# v 4 "
# . 1%
( 0 -0 @74
( 9 /) @ 48
( 7+ * 1 - #C o o ' 747
o &
C 7+ [# ( 4 ( (< Z s
P
; 7.+ # ( ( + 4 - 848
; 7+ . S a 4:
?(# 7+ + 4 4.
( 7+ < , < $(< ) %6 * +B' - < +
4 40 6 4@
294
't # +, 4 # "H#H#
# . 1%
% >>844
e 747
( 47
? ' 848
; 7
o e
< 4@
)t # +, 4 # 144#
# . 1%
# 7>4@
* 47
"% , DO )




m,$
m%
] 1$$ < 5 =
m O
0 & [1]
$1$<% $. /%
o (¢ )
4 ( & & - '5
1
4 # '& 21 '& 1 - ' " '
74 ( - & ' & '
&" ' & - 1& & ' & -
0* +) 1 1 , )l 1
4 1. 1" &' ! ' ot 2-
-& "o &4




1 ' 0"% / !
e #4 (-,-& - 2!- 21&
( (& 1
1 n
4 T 1 - 1 , $ )2& & l4
4 "= 2 - +2 =2
47-= 49&2 ' 4
740 ' '5 &4
84 I- St 1+ ' & - &
&'4
1 $%$ !
) o# x4l = # -
# 1%

( D "% 94
(7 % 2. x" % 4 @4
( D "% 984
(7 %o 1?2.* % 4 8@48 @

# ' 2 " ( 4 <1# <1 _
(7 " 7>4:

# ' 4 ( C ( 4 <1l# <1 )
(7 " 8:49@
( 7 4 1 ! 4 @4:

2@ @4
* o &t/
! 6 %% #*



K)o * —
) +* 4 ! "H O H#

#
o . 1%
4:8
( 7>4:
- 8:49@
@4
*x\ 1 * -
) # +* 4] = ! "H# 14H
#
- . 1%
- 89>48@
55 @4
1 & 7

* o &t/
! 6 %% #*



m,$
m%
[ ] 18 =
m O
1 & [1]
%1303 $. /%
& '& E 8%
- 6 7909. /% 6
i ¢ )
$ #o( - v & r&t
& "4
4 1 1 2 =4 &7=-4
- 149&
' 1 1 ,=&7
' -5 1-- 1 - & %3=4

.7>7? ;6 &5%0°

Where, Py, = power (kW), q = flow capacity (m*h), = density of fluid (kg/m?),
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g = gravity (9.81 m/s?), h = differential head (m)

We further use the next equation to calculate the shaft efficiency:

7 6@

Where, P = shaft power (kW), = pump efficiency
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$ % & 0+ % O+ Performance of the Windmili
=7 ) has been measured using the
anemometer and a container |of
25 It. And recording the data ip
the video and later analyzed to
- 7&
measure the performance of the
( ) windmill. The wind during thej
noon time was found to reagh
1 7 the maximum of 35 Km/hr.
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